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BASIC ENGLISH
Eco English
: Regular ~

Time : 3 Hours Maximum Marks : 80
L Answerthe following ina word or a phrase or a sentence. (10x1=10)

1)  Where did the people of Mayan civilization live in? ‘

2)  Howmany months has Noah given to build an Ark?

3)  Name the Italian folktale-Retold.

4)  Why fish eating birds are becoming sterile?

5)  Whatkind of warfare destroys mankind?

6)  Whichanimal is consuming without producing?

7) 17513013 61110 G ORI damaging the rivers.

8) Where is Moscow located? '

9)  How much radiation of the Sun reaches the earth?

10) What is the pen name of Eric Arthur Blair?
II.  Answer the following in one or two sentences. (5%2=10)

1)  What are the characters of Mayans that helped them to make calendars?

2) . Why did the Lord decide not to destroy the World?

3)  Who are the persons met the king in his search for a happy man?

4)  Mention the three things which are poisoned by pollution.

5)  Mention the rivers who give blessings according to Hindu tradition.
III. a)  Will the world come to an end? Explain. 10) |

(OR)
b)  Whatare the greenhouse effects? Discuss in detail.
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IV.

a)  Explain the efforts made by Noah in building the ark.
. (OR)
b)  Discuss the Soil pollution.

Write short notes on any two:
1)  Water

2)  HinduPredictions

3)  Global warming

4)  Dryingofrivers

Frame sentences from the following confusing words -----
1)  Advice-Advise '

2)  Peace-Piece

3)  Floor-Flour

4) | Sweat-Sweet

5) Lose-Loose

A.  Write one word substitute for the following.
1) A person who does not believe in God.
2) A person who dislikes human beings.
3) A person who speaks more than one language. ‘
4)  Onewho lives in solitude?
5)  Apoem ofseriousreflection.
B.  Write an interpretation of following notices (Any one)
1) KeeplLeft V
2)  Stick No Bills

(10)

(2%5=10)

(5%2=10)

(5%1=5)

- (1x5=5)
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VIIL 1.

Translate the following paragraph into Kannada. (10) .

According to the dictionary a problem is a situation, person, or thing that needs to be
dealt with or solved. We cannot ignore problems. We have to find the best possible solutions
to problems in order to do well at work and live a good life. There is much to learn from our
day-to-day life. If we apply our mind and heart to a problem we can always find workable
solutions. We need courage, calmness, and presence of mind to tackle problems. So, we must
know that every cloud has a silver lining and where there is a will, there is a way.

(OR)
Paraphrase the following poem.

When I consider how my light is spent Ere half my days in this dark world and wide,
And that one talent which is death to hide Lodg’d with me useless, though my soil more bent
To serve there with my Maker, and present My true account, lest he returning chide, “Doth
God exact day-labour, light denied”? I fondly ask. But Patience, to prevent That murmur,
soon replies; “God doth not need Either man’s work or his own gifts: who best Bear his
mild yoke,they serve him Best. His state Is kingly; thousands at his bidding speed And post
o’er land and ocean without rest; They also serve who only stand and wait”.
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3.

4.
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el @ wel & s fRam | (2x15=30)

2. mﬁ—m@muﬁmﬁm%&aﬁwﬁmé-mml
. FE-APR AeH N HUEE FUN G W TeRau |
3. -G AEH H alicAh TAveINUT iU |

¥. ME-IER TCH AeAwia wow uieensd f wwensi @ SWR S 2 - W
Hig |

ot v el = wfa-Rewm it (3%x5=15)
. e

R RS

3

¥, TeEh

L. SR

=R & sgam ffm - 18

The good teachers and the good students work hard. A principle of these is ‘Do your
duty well, and leave the result to the God'. But there are many dullars, cowards,

~ selfish, hostiles and imbesils. These practice paralogism before men of fortitude and

promptitude. The good persons have an exemplary charcter.

Lgod STFOO Torie uéaﬁo D, RFNED 0T, TRoTT. =0 3 Snisd Yodt. D O
ssm mab 2317\ a’mzﬁ: 5333 wowwﬁ% Semon zs&.aowaab BS00 9368 dzsob
m@mﬁa’a "afgrrﬁe;b 3R,0T m'\asfﬁaaﬂ dourecahmu zjo:bréee)d TN ocodawswd
P0OT fawo' 369‘?»@5 &)asadﬁ@ab SB3THO, f&&o&ao@md wﬁwo B INOR
STIF ), odomcs 308, QooET.
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MATHEMATICS (Optional)
(Regular/Repeaters)
Paper : I - Mathematical Logic And Real Analysis

Time : 3 Hours i Maximum Marks : 80
Instructions to Candidates:

1. Question paper contains three parts namely A, B, C.

2. Answer all questions. ,
; PART-A
1.  Answerany TEN ofthe following: (10x2=20)
a)  Define ‘converse’ and ‘inverse’ of an implication.
b)  Construct the truth table for |: pA( p—.q)] 9.
- 9(r,0)
c) Ifx=rsecl, y=rtané,Find a(x,y)'
.d)  State Taylor’s theorem for function of 2-variable.
e) Expand e¢*sin y by Maclaurin’s theorem for as the second degree terms.
f)  Define ‘Maximum Value’ and ‘Minimum Value’ of a function of two variables. -
a2
g)  Find the stationary points of the function f(xy)=x"+y +;+;.
2n+7\ s )
h)  Show thatthe sequence 318/ 8 monotonically decreasing.
0) Prove that every convergent sequence is bounded.
j)  Define Cauchy’s sequence and give an example.
k)  State Cauchy’s second theorem on limits. ‘
)  Define ‘limit superior’ and ‘limit interior’ of the sequence.

P.T.O.
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10.

11.

. PART-B
Answer any FOUR of the following: (4%5=20)
Define ‘tautology” and verify that [ (v ¢) A g—r | A(p =~ r) isatautology or not.
State and prove Lagrange’s mean value theorem for function of two variables.

Find the extreme values of the function 1'(x,y)=x"y" (1-x—y).

if Lim % =" and Lim ¥» =™ then prove that Lim(x.y,)=m_

n—mx H=3c0

Show that if the sequence (x,) is defined by x, = J6, x,,, =6+ X, is converges and converges to
limit 3.

State and prove Cauchy’s general principle of convergence for sequence.

PART-C
Answer any FOUR of the follbwing: (4x10=40)
a)  Define “Universal and existential quantifiers. Also explain these with suitable examples.

b)  Explain ‘Indirect proof” and show that the sum of two odd integers is even by direct proof.

a) If u,v are functions of x,y and x,y are functions of r.# . Then show that

8(1(;v) x 6(x,y) _ 6(u,v)
d(x,y) o(r,8) o(r.0)

d(x,y.2)
b) Ifx+y+z=u, y+z=uv, z=uvw.Thenfind 6(—

U, v, w)

a)  Find the maximum value of the product of three positive numbers whose sum is 24.
b)  Explain Lagrange’s method of undetermined multipliers to find the extreme values of the function
u= f(x,y,z) where x,y,z are connected by the relations ¢(x, y.z) =0 and y/(x. y,z)=0.

a)  Provethatevery monotonic decreasing sequence which is bounded below converges to its infimum
or glb.

1 1 1
i =+ +.t
b)  Show that the sequence (x, ) is defined by X, s i

is convergent.
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MATHEMATICS (Optional)
(Regular)
Group Theory, Integral Calculus And Differential Equation.
Paper: 11

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

13 Question paper contains three parts namely A, B, And C.
Z Answer All parts.
PART-A '
1.  Answerany TEN ofthe following: : (10%2=20)
a) Inagroup G prove that (ab)-I =b'a'Va,beG.
b) [fG={0,12,3,4,5} isagroupunder + then write any two nontrivial subgroups of G.
1. 2 3.4 5 6 7
c)  Write the permutation fi= 5 46 3 1 2 7)%2 product of disjoint cycles.
d IfG= {1, -1,i, '—1} be a group under multiplication, then prove that G is cyclic.
e) Defineright and left cosets of H in a group G.
f)  Find the formula for arc length of
) Cartesian Curve
- i)  PolarCurve

g)  Find the volume of solid generated by y* = 4ax aboutx-axis from vertex to focus.
h)  Solvethe equation (1+2y)dx +2xdy=0
i) Solve the equation (x2 +y° )dx —2xydy =0
j)  Findtheintegrating factor xdy — ydsx = (1—x* ) dx.
k)  Solvetheequation p* —9p+18=0.

P.T.O.
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10.

11.

) Find the general solution 3* + px’ —2pxy—1-p*=0.

PART-B
Answer any FOUR of the following: (4%5=20)

In a symmetric group S, (72 2) prove that number of odd permutation is equal to that of even
permutation.

Prove that sub group of cyclic group is cyclic.

Find the volume of solid obtained by revolving anarc of cycloid x = a (6 +sinf) & y=a(1+cos )

about its base.

Solve the equation (2x -3y +4)dx+(3x—2y+1)dy =0.

Solve X%Jr(] —x)y=xy*.

Solve y—2px+yp® =0.

PART-C
Solve any FOUR of'the following: (4x10=40)

a)  InagroupG, prove thata subset H of a group G is a subgroup of Giff Va,be H, ab™ e H .

b)  Provethattheset G= {a +b2 la,b €z } is an abelian group under addition.

a)  Stateand prove Lagrange’s Theorem for groups..
b)  LetH beasub group of G then prove that two right cosets of H in G are identical or disjoint.

a)  Derive the formula for surface area of solid generated by revolving the curve y = f ( x) about
x—axis from x=q to x=5.
b)  Findthetotal length of the curve » = a(1+ cos &) using integration.

a)  Define exact differential equation State and prove necessary condition for the equation
Mdx + Ndy =0 to be exact.
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b)  Solve the equation (x2 +y + x)dx +xydy =0.
12. a)  Solvetheequation yp* +(x—y) p—x=0.

b)  Solve x’y* = px’y+ y? p* by reducing to clairuts form by using the substitution x* =y and

2

yi=v.
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PHYSICS(OPTIONAL)
Regular
(Fresh-New Syllabus-W.E.F- 2018-19 onwards)
' Paper - (Optional) '

Time : 3 Hours ; Maximum Marks : 80
Instructions to Candidates:

Use Simple Calculators for Calculations.

PART-A _
1.  Answerany TEN ofthe following: - (10%2=20)
a)  Write Abbe’s sine rule with usual notations. '
b)  State Fermat’s Principle.
c¢)  Whatis meant by chromatic abberation?
d)  Whatis the pitch of the helix? Write the expression for it.
e) . Whatare the polar and nonpolar molecules?
f)  Write the expression for the mechanical force on a charged conductor per unit area.
g)  State the principle of Hemohltz galvanometer. |
h)  Define the time constant of R-L circuit.
<i) Define current sensitivity and voltage sensitivity ofa B.G
j)  Whatis the focal length of an achromatic doublet made of two lenses of dispersive powers 0.032
and 0.052? The focal length of the convex lens is 0.24 m.
k) A straightconductor is carrying a current of 1.5A. Find the magnetic field at a distance of 0.05m
fromit.
) On the CRO screen peak to peak voltage of a sinosuidal waveform s 10 volt find r.m.s value of
voltage. ;
PART-B
Answer any FOUR of'the following: : (4x5=20)

2.  Prove second law of reflection from Fermat’s principle.

3. Compare Ramsden’s eyepiece and Huygen’s eye piece.

Derive the relation between electric displacement(D), electric field (E) and Polarisation(P).

P.T.O.
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10.
11.

12.

Calculate the principal points of the co-axial optical system having two thin converging lenses of focal
lengths 0.03m, and 0.05 m separated by a distance of 0.02 m.

A Soap bubble has a radius of 2mm when charged to a potential of 1000 volt, calculate the excess
pressure inside the bubble and the surface tension of a soap solution is 3.12x10?Nm"!

A capacitor of capacitance 100 zF and a resistance of 10k Q is connected to a battery of 100 v.
Calculate charge on the capacitor, potential and current in the circuit after a time 1s.

PART-C
Answer any FOUR ofthe following: (4x10=40)

Discuss the construction of image using the properties of Cardinal points and hence derive the Newton’s
formula.

Show that the path of a charged particle moving with an uniform initial velocity in a constant transverse
electric field is a parabola. Hence obtain the expression for displacement on the screen.

Derive Clausius-Mosotti equation for polarisation of a dielectric and mention its limitations.

State Biot Savart’s’s law. Derive an expression for the magnetic field due to a straight conductor
carrying current. Hence write expression for magnetic field at the centre of circular coil.

What is earth inductor? Describe the construction and theory of earth inductor. How it is used to
determine the B, of the earth’s field at a place?
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CHEMISTRY (Optional)
(Regular)
Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:

1)

“All questions are compulsory.
RO, BINO T CD.

2) Answer all the questions in the same answer book.
PO, BINIY, 2.0T3¢ GVBT BGTODY,  WTCH ee.
3) Draw neat diagrams and give equations wherever necessary.
@ﬁa%&)cé@?ﬁ 33, @B ReeToNT daq WB0WD.
SECTION-A
RPN — @
1.  Answerany TEN ofthe following. (10x2=20)

TENIYNTY, ietom TIF 030R0.

a)

b)

Why metal oxides are unstable at higher temperature according to Ellingham diagram ?

D& or\e@édj‘ Beaioss, @ &390 ézﬁwai emﬁméobc; demne WANO BA ST T ?
State Arrhenius theory of acids and bases.

ST B, WL 3N HOIOAIRY, 2TCWD.

Whatis levelling effect ?

STEON WO BOTTEI0 ?

Give two disadvantages of powder metallurgy.

BREIFS draeaésargﬁ 3 TR esaaaiaﬁfwéﬁeéﬁ% W3EW0.

What are ortho and para directing groups ? Give examples.

SHEREE 2T VTEFTT MOOPYNSOTTERD ? SVTTOBOFH WBO0.

S P.TO.
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f)  Givethe composition and uses of cordite.
TG, £ E5°S HO0UREEE S0 GUTORNTINRER), WIoWO.
g)  Write the structure of Dettol. Give its use.
BERO'S TIT0 ARSI, WE00D. STT evmcdnen S94.
h)  Whatis Lucasreagent ? Give its application.
TR &,8T90F 0BT ? STT STOD PR
i)  State Raoult’s law. Give its mathematical expression.
DIQF DODTTI, 99,832, DA. ST Te3Seadd A, [T, WIWD.
)  Define molal depression constant of a solvent.
2,000 32,3366 BRECIS” BES,IT* }TI0FBRY, 599,209, D%.
k)  Calculate the efficiency of Camot heat engine working between 273 K and 373 K.
273 K 33023 373 K So37000 3053, T000F QeSF ol Tom0F &3 BV, 3 ARG, F R

61’{“?00.
I)  Whatis cyclic process ?
238,030 FOODF TS DOTTERD ?
SECTION-B
RN - B
Answer any Four of the following. (4%x5=20)

FINSYNYY, Bewons SOYF SN, $v3020.
2.  Whatare the types of solvents ? Explain tne properties of good solvents.
039, 3BT NTO 000IR) ? LVS 39,380 TLAMNTY, BORD.
3.  Givethesalient features of Ellingham diagrams.
QO T, 57, 30d MOLOFENTR) WICWO.
4.  Explain the orientation effect of - OH group in phenol using electronic interpretation.
TR oD SHRUT ST ~OH Mhoss ms R HormssbRs) S30%0.
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10.

Write the mechanism of pinacol - pinacolone rearrangement.
22, BRET W) 2T, TRERET'T PYIT® INDETTEIS DPITHY, F020.
Define free energy and derive the expression for free energy change with temperature and pressure.

T0TTE mﬂmﬁaﬁa. ema;aa" TOMR LB WRTORBNGD §w§3§033 e VeI WRRRHOD
k‘@oeﬁdwﬁ@l DE&B%O.

Derive Gibbs Helmholiz equation.

Ny BEREST, REDETTEITIY, ATHSR0.
SECTION-C
RN - A
Answer any Four of the following. (4x10=40)
Wean TOYF [RS, LUBORD.

~a)  Explain the extraction of nickel by Mond’s process.

BROT S IFIID0T a§o emdgd%o:b&gt N0,
b)  Explain Bronsted Lowry theory of acids and bases with examples.
B3, 30 F,39,=NY zu_a)aimaf TR, POV, YVTITTFOILODT IO
a)  Give the mechanism of Fries rearrangement.
PN YO DTYAT $,080308,T3), S9AD.
b)  Explain the mechanism of Lederer manasse reaction in acid medium.
SR E0D TWRG,RTY, SBOT® TR TIFR0IRE §,0500D §,03R808,[) I[OR0.

a)  Explain Beckmann’s method of determination of molecular weight of non-volatile non-electrolyte
solute.

TR ATITO0T SCTINTS TOR7 -SER 085 43° 13,3, T3 9£0T2S03RY, FOROEROITI
DTII), HSOKD.

¥
b)  Deriveanexpression W—R(T:-T,) In—% with the help of Camot’s cycle.
I

v,
5. 03083 Vchnes 38,3 Reaonos WR(TL-T) In—2 =ase380 o0,
) = V.

I

P.T.O.
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11. a) HowisAluminium extracted from pure alumina ?

T, SRR, DITIROT LRIV, Ber VT ORODD ?
b)  How IR spectrum helps to identify the following with respect to their stretching frequencies ?

0) alkane
ii)  alkyne
i) alcoholand
iv)  carboxylicacid
sBroR) Crek3s AE0R0T BN &,3R SHTE Bded 4 FININIY Dert

mOBOERIT 2
) g
i) ed

iii) e;adr%e@o‘
iv) @mfiéfs EIRT®
12. a) Howare esters and amines prepared from methyl magnesium iodide ?
IO B DN ¢ [, 0T * 07} LA S03RETE,TFROT Her SCIRORON0.

b)  The boiling point of benzene is 353.23 K. When 1.80g of anon-volatile solute was dissolved in
90 g of benzene, the boiling point is raised to 354.11 K. Calculate the molar mass of the solute.
(Kb for benzene is 2.53 K kgmo1-)
2300006 FOD IO 20T 353.23 K. 90 71,0 2300eF D, 1.80g T59,33,333, FONADN
9730 D030 20z 354.11 K 7 2D0F03503. Zs_a)wzsd RRECRT® Z;S)Szg oaéo:bmq 61?2%0.
(23000e*= Kb 030 2.53 K kg mol™' )
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IIT Semester All U.G. Courses Degree Examination, Nov./Dec. - 2019
DEVELOPMENT OF PERSONALITY AND COMMUNICATION SKILLS
(Regular)
(Compulsory Paper) (New)

Time : 9.00 a.m to 10.30 a.m (90 Minutes) Maximum Marks : 80
Instructions to Candidates:

(1) Check for complete printing of 80 questions.

(2) The last page of the question paper may be used for rough work.

(3) Each question has four Multiple Choice Answer and choose the correct one.

(4) Darken the appropriate circle with the ball pen.

(3) Damaging/overwriting using whitener on the OMR Sheets are strictly prohibited.

(6) No candidates will be allowed to leave the Examination Hall till the end of the
session and without handing over his/her Answer Sheet to the Invigilator. -

(7) Candidates should ensure that the Invigilator has verified all the entries and that
the Invigilator has affixed his/her signature in the space provided on the OMR
Sheet.
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1. Theterm personality derived from the word 'persona’ which means

(A) Vegetable (B) Hat

(C) Mask (D) Dress

TAF DL 20w TT “‘Threr"’ dow IZ00Z YVB S CINNG. TARCF T 0T3S
(A) om0 B) e

(C) ==z (D) Sexinmeansd

2.  Interaction between physical and psychological traits results in

(A) Intelligence (B)  Personality

(C) Learning (D)  Philosophy

3,87 T SRR 2R MOELTENY SRIVT w0t S 0828, 030007 BLITT0.
(A) woRzs B) =3

(C) 3d3 D) s

3.  Weneedto develop a good and sound personality to
(A) Tobecome good and successful professional
(B) tobecome good communicater
(C) Evolveasaresponsible citizen
(D)  Forall the above reasons
SEEVEIIETNS [ AT E‘)ﬁ%ﬁﬁ% d@%ﬁm%ﬁdeﬁaﬁd&@w
(A) V8D DY) ozbsfgs B¢ TOLTALD  (B) PVZRD FORBITITINED
(C) vUZa1 FondsTON BRZTONREL (D) 3330 0 FoTeEaNeTDA

4. Personality development is a continuous process.

(A) Te (B) False

(C) Partially true (D) None of the above
Zﬁ% 9Bedriadn A8o3T %,3,03003RAF ------

(A) =0 (B) 3@2

(C) enz: xd (D) ToedT AR SO}
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5. 'Personality is the dynamic organization within the individual of those of Psycho-Physical System'é who

said

(A) Allport ' (B) Young

(C) Freud | (D) Johnson

‘56§§5 20WT, asgoi:a@rid QUIB BOBRE- T 88 :;Sw:;m BOTSL BOPETOIRNT’ B 033
BEFTOINNT.

A) sFdpetsr B) oo

© oz O =3

6.  Personality development is essential for

(A) Men's (B) Women's
(C) Children's (D) All ofthe above

B3, TR ARON BRI FTIOWD ~—— -~

(A) Ioo=dR B) W&Fcon
(®) mi@ﬁ D) DI Q0T

7.  The word personality in psychology includes
(A) Aptitude (B) Attitude
(C) External appearance (D) Allofthe above
SOTREDTIDHBE, 37, §ST[OUITO CSRWYTI, W RRORTOBT.
(A) WO | - (B) ®IReFRETHBEH

(C) oz TRIND D) BedIR/N

P.T.O
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Widely known personality classification "extrovert and introrvert typology" was done by

(A) C.G Young B)
(C) Caltall D)

All port

J'B Watson'

33T, 080D B LEWNFED HOW TR T, T0NTE B[N ETOATHT 03T ?

(A) &.&.030R01 ' B)

C) nu (D)

Identify the correct statement in the below

(A) Personality isadynamic (B)
(C) Personality ishaving individual differences (D)
33 FENIPNTY, FOINT BEFTODT), TLSFA.

A) S 8, 03RS e NG B)
©) BIeW 23,0308 wq{é’ﬁ%ﬁ% BROT (D)

ESCP RO

%.0.559,85°
Personality is determined by his behaviour
All of the above

5,835 3, 3030 FBFSDI, APFORZS
BeDIVPNH

Identify the incorrect statement in the below
(A) Personality is helps to increase internal abilities

(B) Personality helps to become a successful scientist

(C) Personality is not helping to develop physical strength

(D) Personality helps to become a good communicator

33 BINSRNTE, B TOD TELFOITY, TS A.

(A) 38 0303 FOROG, F TS, TR FT20D TRBEIRTO.
(B) H,3BH) IR, QZPICIRNED FT20D DRERORT

(C) 33 T toT BECDTY IR0 FTOD WRBWSITTD

(D) aﬂzsga;@ miocb FORBITITINECD FTIOD SWREIR)TO
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11.

12.

13.

14.

Gender, age, race, height & weight etc determine the personality.

(A) Physical facts (B) Cultural facts

(C) Psychological facts (D) Social facts

"' 9o, Sodad, wIor, 23T WO BT AYNEd 3,833 AF U50BNTINS .
(A) 23287 es03ned B) AD0T, 8% 03eh

(©) mdme%gaas £031eh D) =T L2035

To become a successful Engineer one should have

(A) Good health (B) Intelligence

(C) Knowledge (D) Allthe above
00T, e5)0d0ZTTRMRED 2 B3 moadzjeaadcs% ——————

(A) mfpb csdroeﬁé B) 200; I3

©) = (D) DedePnsh

Both Intelligence and hard work is required to get success in life. Identify the correct statement in the
below.

(A) Intelligence s sufficient (B) Hard work is sufficient

(C) Both(A)& (B) (D) Botharenot required

BeIITY, oiam;a% wdoinwdié &D&Qdoéﬁ DB 8 I, 0B ey’ i@ﬁzd@n’@:fcl
73601)36(:’23 3.3% MEFA.

(A) wa@e@ 20T3e TBD (B) ©de W= efewd

©€) a3 D) |Fo= wesane)

Mention the name of British Scientist who was amongst the first to investigate individual differences in
mental ability

(A) Becon (B) Francis Galton

(C) Darwin (D) None ofabove

RIT BRDXE AR, FNTE 308 PIFZnecZBoo0md T ETHORT BT )t =Y
o3RO ?

(A) Jsx° (B) PRIT MOOR

©) wodFs* D) FoedT o3ndd Q).

P.T.O




VD AR RO (6)

15.

16.

17.

18.

One of the following is not considered as a positive emotions
(A) Curiosity (B) Love
(C) Anger (D) Mercy
FINIYNIQ, cIRPI> R5oTsgT KoSer=S0rd BONBROLL,
(A) BIPBO B) &ed
©) ‘e D) 3™

Which is a best example for disorganized emotions.

(A) School boy (B) Working women
(C) Deliquent criminal (D) Doctor

3 FYNT IR &)a;fésméj ﬁodeﬁéﬁ GV YVTIBOFBOINNG.
A) ZSoh BN B) FOIT &Y

(C) WRTTO D) 3

To find the wrong statement regarding 'Emotion's'
(A) Emotions are developed according to age

(B) Emotions are learned behaviour

(C) Emotionsare not influenced on childrens

(D) Emotion as the ability to perceive & understand
PomsINng 0N BT ée@io:bd% moérA.

(A) oRIned WODANSONIEITN 3$03203:3.
B) PBING OB JSFINFONS.

(C) PIIned Boz¢ Boed T PRHOTOY,

(D) YPTIND SPTRAWS 2 T, B RPPROT TR, FoNT.

"Man is a social animal'who related to this Statement?

(A) C.H.Cooley (B) GH.Mead
(C) Machiver . (D) Aristotle
TRDS TR T, €3 B3 BEYF 03007 TOWORRT.

(A) 2.3 3063 B) 23.35. 0T

(© &%ajo‘ (D) wdRES

10925/C970
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19. Education is ainstrument in the development of scientific temperment:

21.

(A) True (B) False
(C) Partially true : (D) Can'tsay

850 29008 FRLTPT BEROTE, 2,050 WETHNT.

(A) =0 B) =x)

©) torz: 20 | D) 2 Sevonnad

Mention the factor which is not strictly determined by culture

(A) Social norms (B) Independentattributes
(C) Our appearance (D) Aggression
FINTHNSE), cdrzyed 7307%803305 6&3.2})&33 N E’OK;SFORJ‘QSJ ROBOE),

(A) DTRT oEONEH B) =I=cos, &3,8nd

(C€) I womdes D) ©5=deed

Identify the correct statement in the below on culture

(A) Culture is decided by our customs

(B) Culture indicates our external behaviour

(C) Cultureisinfluenced by our education & family

(D) Alltheabove

:3073@37? ROWORATI0B FOOINT ée%‘cmag{ nSFR0.
(A) :so:s@aom Y wcéaﬂ@od OOF VTN

B) ﬁoﬁﬂéodw S mséwsréws% EReOR0TT.

(©) :o‘o,*d@éojao 5&3% éi £9 T2 BOLWOOWAOT T, WNTS
D) BoedIdePrisd

P.T.O
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22.

23,

24,

"Linguistic" represents

(A) Linguisticis represents personality development

(B) Linguistic is represents to good communication skills

(C) Confidence building

(D) Allthe above

YOI (DGOT) —====== CHRNIALS T

(A) 2T DT T3S, zieﬁdt’éﬁoim% T, 8HRTT.

B) T NPOTH) YR FoTHS @5@57‘{%’3% T, SAQROBT.
(©) 6:5%&3%?353 W=

D) oedIQRNL

The T as experienced by an individual is called

(A) Mind B) Self

(C) Body (D) None ofthese
;80020 BROQTOT ‘TR’ 0w LROPRIY, DS oD,
A) =, ® 3

(C) Tz D) IR &),

'Johari window' represents

(A) Openself (B) Blindself

(C) Hiddenself (D) Alltheabove
‘2ReTD #8380 ATOIR) ——--=- &, 8PR03T.

(A)  Ro0T R B) erieesd R
(C) Redgs Aeyoss D) WedSYrisd

10925/C970
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25.

26.

27.

Who introduced 'Johari Window'
(A) JosephLuft
(C) Segmund Frued

®

B)
(D)

‘BReT0 8833’ éiegﬁodamq 3R TOWOWATD.

(A) eReiE eox
(©) ATjow go,006

Self confidence is

(A) People doubt themselves
(C)  Stand up for others

A) =ID 333@ urj\ BITIF VRO
(©)  sedabaomn ARt

Social etiquettes is

(A) Polite behaviourin society
(C) Good sense of humour

AW émw TR
(A) ASRETE, m,séwsr:s

C) o= m:sggm

B)

D)

(B)
D)

B)
(D)

(B)
(D)

(B)
(D)

10925/C970

Cooley
None of these

3R
CIRTJT e5¢)

Do the right thing

Don't help someone else

R00IRT 0dress /3o RO
Wedobzon Ama0dd BRBEODTO

Positive attitude
All the above

:d@oais @S
abe@ﬁom v)Tat=s)

'Good Manners are made up of petty sacrifices' who's definition

(A) RalphLinton

(C) EmersonRalph

(B)
D)

Adalf Hitter

None of these

‘emgm VBES03D xe% :csaéﬁm?od TRRT’ a?,ﬁajé ORI,

(A) oeF doww
© @53:156 o,

(B)
D)

ST 8T

e odnde
P.T.O
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29. Identify the correct statement related personality in the below sentences

(A) Improves professional skills

*(B) Promotes cultural awareness
(C)  Awareness yourselfwell by dressing appropriatly
(D) Allthe above :
FENTRYNTE) FociRT ée@%oﬁosgt nOSFA.

A 36'33@ R éz;;&a@m (B) ﬁof"a’ S0 505y WARBREOHT
(C) =RwrT wwiEnine Wil ©05y) BRFDI (D) d)@@éo@mb

30.  Aprocess of transmitting biological traits from parents to offspring through genes is called

(A) Environment (B) Heredity
(C©) Race (D) - Transmission
2,38 ROEITROE N, TOFOOT MOFTILONY TAROT TSN SMoF 0WAD T3, oSao:be ———-
ch\)% RT. |
(A) o=T : B) ©TodoD3
(C) w=ma0n D) =N

31. The part of the body that controls the emotional reactions is

(A) Heart (B) Lungs
(C) Autonomicnervous system (D) Kidneys
[ADINIP @56 ﬁJOCSJRb VO0E, O JOTT on————--
(A) 5@055013 (B) ZFEReS
©) h;c:bo 3008 ITTOBO eﬁédk; D) t':ﬁgm‘b

32. "Core of the personality pattern is the individuals concept of himself as a person related to the world in
which he lives" - Who said this

(A) Breckenridge (B) Freud
(C) Watson (D) None ofthese

om0 FOREIGTOR WNERRODT Nowocswm *?&anrao@dow z-:s 3§ 3333 B0 TR BROTOA
w@uoﬁw :5 abawaﬁ 3C0T, 3N tadm DEPTRTO o.uatfo ‘7

(A) IO (B) 00z
(©) mséiaﬁ D) IR B,
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33.

34.

35.

36.

The evaluative and central aspect of self concept is

(A)  Selfdignity (B) Selfboosting

(C) Selfesteem (D) Selflove

A, WovO8D [P, TRTIZITT Y F60%, 0TF0TES ~— - — - —
(A) 63;7\’365 (B) :3@31 2R 0T

©) s 8‘-’% (D) 7@’, ({ne)

Will power increasing

(A)  Develop small but powerful habits (B)  Feed our brains with regular protein rich meals
(C) Take frequent break & plan in advance (D) All ofthe above
Q53 I8 Q'bsi éago@da ———————

(A) =eg @apqp@ Sialof-] [ovbbrc] IR, AT

(B) I Booert dodawsTA w-’aa%@os@e{ EZT ZREIFHD
(C) smn ov=b TRV D) BowE odmess TR
D) Hoeddozned

Goodwill is an expression of Negative direction

(A) True (B) False

(C) Don't know (D) None ofthese
2&%0:1) 333‘53” :).bméj ﬁﬁdzdgl ARIROTT.

A) =o B =3

©) Rege, D) =D SR e,

The word ‘communicare’ gives meaning is

(A) Toknowing (B) Toshare

(C) Tosend (D) None of these
smﬁawmﬁ WO 5%6 ST —————

(A) ée:)cjoi@e}% ) [b) (B) aowme‘g@m
(C©) TR D) axy cInYD ®Q,

P.T.O
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37.

38.

39:

To find the correct chronological sequence of communication cycle
(A) Media, Reciever, Message, Sender, feedback

(B) Sender, message, media, receiver, feedback

(C) Sender, media, reciever, feedback, message

(D) None ofthese

ROWT 235,53 ST, 0 ATEICT, TOSFA.

(A) B[R, P&ibz’owd , BOT3eT ROTETFT, ,83,030

(B) Fore3T0 Foried [RG D, AFFORD, 88,05

(C) RoeTFT, BRG,F, AFTORWTH, T,88,03, Fo3e

D) eI CRYTO B |

Mention the barrier of communication

(A) Poor listeniné (B) Languagefluency
(C) Good commanding overlanguage (D) Allofthe above
ROBTIT, SESERRTOHTI), TOSFA.

(A) =ocdPN SORRTORTO (B) o T2,
(C) PRED BT YIS &&= D) HoedIPNL

Which types of communication are used by deaf and dumb is
(A) Interview (B) Body language
(C) Telephonic conversation (D) Public speech
BT TR WARTTO WA FORNBS WRWO C3NRTD ?

(A) RoTIFS B) SoNE WoR

(C) TRTZLS ROWORFD ‘ D) = OWFRIT LWOmED

10925/C970
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40. Whichisa'dyadic communication' among followings

41.

(A) Meeting (B)  symposium
(C) Public speech (D) Dictation
AR Q3 FOVEBITNG 2

(a) =% B) wmFiRey
(C) ~OTFHRIT LR D) evESeds

To find the good statement: Meeting is called

(A) Togiveand getanew ideas

(B) Toreject the widly acceptable decisions

(C) To waste the time of others

(D) To generate negative attitude

rsfelovtpia) ée@ﬁod:ﬁg{ MSFA A 00 emzs;eesef:odd
A) Bex &mdﬂ@&g{ TECI0HTO 0BY ATOAITYT
B) k‘aﬁrﬁdgﬁmd amdﬁejc‘\% 363‘5 DROPYT

(C) «=oo xmoﬂawm‘i TOFO WREOFTO

D) 3@03%6 zpaﬁﬁmﬁa‘% ?‘m@iﬁo@w

42. Inability of the listener to keep pace with the speakers speed affects the listening process

(A) False B) True
(C) Partially true (D) None ofthese
~ "POHEITITI BRBITTO® dm§ RORTOTON FesoNs SOOI Sen 2R 0BT BT BARODFOD
3, 03001 STTHFFIN T, LRI’
@) 3 ®) =0
(C) ¢e308%m0Nn 3O D) B3R IRFT &),

P.T.O
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43.

44.

45.

46.

Itis not a written communication
(A) Reports

(C) Public speech

BT DD BOTBTNE,

(A) =TOND

(C) =OWFLIT LR

(14)

(B)

D)

B)
D)

10925/C970

Notices

None of these

Resied
D) CIRTT0 )

Ability of an individual to reach goal amidst of opposition is called

(A) Bureaucracy
(C) Leadership

B)
D)

Dictatorship

None of these

&, 8TReGT 0T 0l MIDCIR), SLOT WG R, DHR0md F30I0ZT 7

(A) PEoLE,

(C) TooNT,

Leader one who
(A) Misleads to others
(C) Leadstoothers

VOOBTI0WT-————

(A) 2BTTRY IO HFCI0R
(C) 5ETTRY oFES

The report writing structure is including
(A) Abstract

(C) Conclusions

B)
D)

(B)
(D)

(B)
(D)

B)
D)

RTQ 303NBF TL3ICID VW), LHNRORT

(A) =003
(C) &mPFansd

B)
(D)

DO, 408
<3
IR &),

Confuse to others

Decieves to others

2BTTIY maowoe%mmmw
ASTTRY, WOLROD

Discussion & description
All of the above

2328 03 ATTE
BoedI3nsd
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47.

48.

49.

50.

Which is not the basic elements of body language

(A) Posture (B) Facial expressions
(C) Gesture & eye contact (D) Speaking

B3 PN CIIRTO TED LRROD 0RO FEITI0TRO),

(A) e;aori&)ma.?s B) =D

(C) PPRTCL B TRAROTFE D) [RTIETO

Letters. newspapers, circular are the example of verbal communication.

(A) Tme (B) False

(C) Partially true (D) Can'tsay

TG0, OF TE,3NL Torie AeSRedntd w3 AORBIT, YVTITTEHNTINGS.
(A) =0 ®) _ 3R,

(C) Nz 30 D) TePonmd

The research articles good characters are

(A) Objectivity (B) Methodology
(C) Discussions & reference (D) Allthe above
ROBRETTZT SeDIY g OFaNTons

A) == @awé’ ' B) Qdznd

(C) 23edr == es30Neh D) BoedIYI
To face the interview successfully he should follow.
(A) Confidence (B) Timesense

(C) Misbehaviour (D) Both(A) & (B)
everr) ﬁodsrsamq RTDFED, 9D QRNTIY, SIROTLIEB.
(A) sgmm - ~ (B) oo, §
(C) woFEs D) 2308w

P.T.O
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53.

1.

Mention which is not a component of good public speech

(A) Effective body language (B) Commanding on subject

(C) Clearvoice & presentation (D)  Unsticking with topic
FINTYNHS, AR LU WBFeRT GRRCOT FET0TRE |

(A) OHmIRTO SONT Lo (B) QeHODT RIS T3

©) & TR DD T, ST (D) é)e?'i&'bi @o&i@%‘i)@tﬁo@m

The good quality of a good leader

(A) Selfishness ' . (B) Notgood listener

(C) Vision& intigrity (D) No confidence

UG TOITS BV 706D CINZT0 7 '

(A) mmE B) oVZRO ez

©) cﬁredu:)e?%% OB ARON,E D) 6%@%5@%&&@60

Dress code is determined by

(A) Climate & immedia?e environment (B) Sex

(C) Jobs & profession (D) Allthese
;7 ?Joaoéodaaigt AT OROD LOBNS0TT

(A) DML TR ARV O HWORT B) ©on

(€) K300 VTR en 080 7,8 D) ‘BRI

The success of any organization is determined by its members capacity to engage in team work.
(A) Tme (B) False
(C) Partially true (D) None ofthese

BOBTOOF T BIR), TR SRBNATRILS ATHO AREIT FEY) 2O FOFFEROD 0DTHR)
Sromss. g

(A) =0 | ®) =@
(C) won3s A0 (D) ocIRF™ B,
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55. Identify which is not causes to conflict
(A) Valuedifferences (B) Communication gap
(C) Co-operation & Co-ordination (D) Indefinite goals
ROPTFE CIRYTD FTeTE)
(A) ds’aeé ne 3,89, AN B) RomzzT 359,
(C) =58 B Focdeens D) BARFF MOMEL
56. The conflict between workers and management can be called
(A) Internal conflict (B) Organizational conflict
(C) Group conflict (D) Raceconflict
TOWET 0B BTYS S0BYNY SEOD xo@amq —————— 0T FTCDRETH.
(A) 03078 Jopar (B) xoaumz&s RODRE
C) AR ZoP=E (D) =HJoonect o
57. Which is the good way to solve the conflict
(A) Non co-operation (B) War
(C) Compromise & Accommodation (D) None ofthese
CIRRYTO FOPRE HOBITE 36T DGORTING.
(A) ©3zFT (B) odoac,j3
(©) LTOT T BROmESE D) oy e
58.  The leadership quality which is found in Mahatma Gandhiji is
(A) Political (B) Religious
(C) Socialism (D) None ofthese
S0THITY MOREICVTTE), FoRd WIS F0DTST MOED —————-
(A) oComdeod B) Towrs
C) AZnwT (D) oy s Sl
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9,

60.

61.

Resume & Bio-data are the exaxhple of verbal communication is

(A) True (B) False

(C) Partially true (D) None ofthese
3,8 TOWAD TR FTBNLD, VT FODVTIE, QUTRBIRBATIN.
(A) =0 B) =H)

(C) 08300 F0 D) Ry ©Q

To identify the factor that do not make a team successful one

(A) Honesty (B) Committment
(C)  Responsibility (D)  Misunderstanding
WO Bow evei7Tevhplytaty QUOTTE FTED TOSFA.

A) TR (B) w%@

(©) B0 (D) eezZ[owd

To find the incorrect statement among telephonic conversation

(A) Itisone of dyadic communication

(B)  Weneed modulate our voice/stimulus variation

(C)  We should talk to people online at any time

(D) None ofthese

BRTEI xomﬁ%wa& %0203 SHTWI aisee«?icxjosgt MOSF A,
(A) TR O § FOTBI.

B) P BN DOV BRBEIe0.

C) Ty e ARODTGITTR IeToDTER0DR BRERELRIDD.

D) B3P IR e,

10925/C970
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62. To find the correct statement among career planning
(A) Itisalifelong process
(B) Itsasimple process
(C) Itsaimpersonal process
@) (A)&(B)
BeSRETIOD 7,30 03ResSoD 20BN FOIRE Bewd MISF2.
(A)  BBROTD BeSITPSF T80
(B) adeom ATY T80
C) adrom 53,0083 8,00
D) 2DV

63. Interviewisaformal method of technique of gathering information from others

(A) False (B) True

(C) Partially true (D) None ofthese
ROTTFIR) @BT00T maoawmi 0T, &R 20T BT2IOT D,
@) = ® =o

(C) 033N KO D) B CIRP B,

64. Among the following which is nota tip for facing the interview successfully

(A) Confident & courage (B) Polite & courtesy

(C) Properbody language (D) Serious without smile
ﬁodﬁs—‘éﬁ;ﬁi adab“ﬁo?é)dﬁ O3RRTO WOBIT ARIFoDEY,

(A) - @%&)&mg\:‘ 0B G 0DF B) SoDITOH W N*’aa::gj
(C) wweab Bex ozt D) SOBDILE Roesd

P.T.O
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66.

67.

68.

69.

The objective of group discussion is
(A)  Judge the individuals ability
(C) Reachadecision

MO0 23BEF o). TP VT e3[0R3

£

Q

(A) =3ne ms‘mﬁd FEm) 0mT0 TRTFELD
(B) 30D £ZFIL) WoesTEO

(C) Resrodnedsy, %r'\fa‘vw

D) HedIJePnsd

In the group discussion we should avoid

(A) Openmind
(C) Carelessness

(20) 10925/C970

(B) Asanacademic exercise
(D) All ofthe above

(B) Friendly behaviour
(D) None ofthese

M0z 133F 0D Ty WRBEWITEH FoNEoD), THSF 4.

(A) 0T IJW

The following element is not of a listening process

(A) Hearing
(C) Understanding

B) FeTTBFE IS
D) | R we,

(B) Attending
(D) Noneofthese

35 TINT CIRTTD BOROITF T3,0300 Feizoo3DeY

(A) FeoERRRT
(C) ELTRALTT

L4

Who are the born leaders ?

(A) Mahatma Gandhi

(C) Basavanna

TAIVOT TODTTIHRTO 3R ?
(A) :me mog

(@) wxsmgg DT

(B) TOHTIMIRF
(D) 83 B0edT ey e9e).

(B) Dr.B.R.Ambedkar
(D) None of the above

B) ©o.0.63T°. @odecsbd
D) &530edT B &),

Making rehearsals of facing the mock interview come under

(A) Preparatory stage
(C) Finalstage

(B) Post preparatory Phase
(D) None ofthe above

BB FOTIF TRDY, DWIOROPYT FOTJF A 03na FIHE) 2333,

(B) ?vzfésa jecislaf o]
(D) Hoed IR &)
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70.

71

72.

73.

74.

Who's called a architect of Indian Constitution

(A) Dr.B.R.Ambedkar (B) Mahatma Gandhi
(C) IndiraGandhi A (D) None of these
03T ‘FoRRS 8O 0T o3RTY, F5000ZT ?

(A) @d. W.BT. BOWERET B) FoTTY MROY

(C) w00 MOY D) B CBRRYTO B

A method of avoiding the conflict by ignoring it is called

(A) Accommodation (B) Avoidance

(C) Collaboration (D) None ofthese

ROPHRE WD, BRTIREIN ST ST, ROOTRTIE QFIVID), —~~=~== ONSTNeoR
(A) TBROTOET (B) TRTUIBIRD

(C) LR3NAB FUR VNI (D) B T B,

Man is an Architect of his own life

(A) Twe (B) False

(C) Partially true (D) Can'tsay

¥, 5000 3, a')zsz_‘ia;qu CBIMS dm&?oim@%a’ 39 thw%é.

&) o ®) =,

(C) on3s A0 (D) TSN

Among the following which is not a barrier to communication.

(A) Language (B) Poorlistening

(C) Poor vocabulary (D) None ofthese

33 IBNSPNTEY, IR 5055536 BWSEODY ?

A) PR B) =OBRFOD FRTS
© aiz% RODET WESS D) R B8,

An act of directing others to perform a particular task or work in the context of communication is called

(A) Lecture (B) Advise

(C) Instruction (D) Giving Notes

2BTOR 2,000 AOFT, FORTI), VSFELILO Aeder SBT3, 03030 FORBI TogIRODY,
————— DBZT.

(A) QUBIF B) evRTe3

(C) VRS (D) BReLITERBEYTI
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76.

77.

78.

Conflict in between democracy and communism is called

(A) Political conflict (B) Ideological conflict

(C) Inter-individual conflict (D) Gfoup conflict

%, 20, 3108 2302 T, DO IR ROFPHFDBIY ~—---~ RO FTOX0TVT.
(A) Tomdeod opRs (B) k;cmg 08T BOPRE

(©) T 3nd RS Zoaie (D) Aoz BopRE

"Lack of agreement among members about their needs, differences regarding the values and interests
possessed by them brings conflicts,"

(A) True (B) False
(C) Partially true (D) Can'tsay

‘3&3%&36@3?1%36’0 300303 "‘d~ 08 B3 BRT3, 6530 ne 302 e;m&o:bc?b D008 B[V
R, TR NOw’wFEﬁE\"D wowmmsas’ :Jaod.)addm n8eA.

(A) =o ' B) =z
(C©) wnz: md D) Tedoncd

Conflict between two ormore individuals is called

(A) Cultural conflict (B)  Group conflict

(C) Interpersonal conflict (D)  Goal oriented conflicts
QLT 2, 3M% T30 IBod0m 7«30@&?&5&% ————— @ﬁg{dd}.

(A) mo:dﬂ &% ROPRE B) ARNRT BoPRE

(C) es030f R,8 ROPRE (D) MOJBerde o=

With the help of group discussion efforts will be made to jﬁdge the

(A) Leadership qualities (B)  Problem solving skill

(C) Both((A)& ((B) ' (D) None ofthese

0%y We3rotos ocira@dﬁg{ sozsoao@odao@dﬁ; BNOB3.

(A). -TocEE8ss noenYR) B) =F, NI, TOBOROI I,
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79.  To find incorrect statement in the below
(A) The successis depending on one should have short term goals
(B) Thesuccessis depending on time management
(C) Thesuccessis depending on prioritizing work
(D) None ofthese
=2 éems@qu é'cadaﬁ aa"e@é&b@i MEFA.
(A) cdasfg; QOLDTO 2,8 BROQTOT TR Sivialovh) rb‘c"me}ag{ BROOVRT.
B) Q‘bé)’%zs Q02T AR @d%‘c‘da‘é&'bﬁ& EROOWAT.
(©) Qbeifé RO B, 3ob Soedr 'é’o?dadabq BROOWRT,
D) @ AR ©8Q,

80.  Human personality is effected by culture through the process of

(A) Perception (B) Socialization

(C) Interests (D) Observation

a‘ﬁ% %) z:?%’ﬁtéﬁa'bQ ‘N‘oﬁ@éod) DO ~——— =~ B8 T,8,000 Iwawoss SN,
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